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General Instructions:
1. All the questions are compulsory.
2. Please write down the Serial Number of the question before attempting
it.
3. The question paper consists of 22 questions and it is divided into four
sections A, B, C and D.
Section A comprises of 5 questions carrying 1 mark each.
Section B comprises of 9 questions carrying 2 marks each.
Section C comprises of 5 questions carrying 3 marks each.
Section D comprises of 3 questions carrying 4 marks each.
There is no overall choice. However, an internal choice has been
provided in 1 question of 3 marks and 1 question of 4 marks each. You
have to attempt only one of the alternatives in all such questions.
9. Use of calculator is not permitted.

Yus 3 (Section A)
1. & Bt § R 317 &) W 87 ®

How many angles can a triangle have?
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.5 9 BT 5 TR F U T BT | @®

Find the ratio of 5 paise to 5 rupees.

. S DINY % 6 T, 8 |HT 3R 10 FHT YoTRil ATt Tab R[Sl &1 <=
B S Gohd! & | ©)
Check whether a triangle with sides 6 cm, 8 cm and 10 cm can be
constructed.

. (3)° BT WM T AR | ®
Find the value of (3)°.
. &1 TS Spfa # guid FAMT &1 HH 9T @

Give the order of rotational symmetry of the given figure:

WUus 9§ (Section B)

. U STHUTH @ fll U avg &1 o aemsy forad wafAfa 81 s9 oA
¥ Ry Y@ ff 98T | )
Draw a symmetrical picture from your surroundings and also its lines
of symmetry.

. 36 B MY T[UES! BT 1dl & PHGA & o9 H ad difog | (2)

Express 36 as a product of powers of prime factors.

120° & TP DI B T DI | )

Construct an angle of 120°.

. TS i &1 fhan ufoera wrT sEifed § ? @

What percent of the given figure are shaded?
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10. <o PIfTE 7° = 7 @
Simplify : 7° = 7°
11. 70 S=a & Yo He ¥, 30 URIEIA 9= The 99 W W A & | |
" 9o T 99 ¥ e A 57 ®)
In a class of 70 students, 30% come to school by school bus. How
many students come to school by school bus?

12. 9 1 3y forfau: @
(i) T B & T BT FADIT & FH 3 | (v / IrEa)
(i) v B & A= o7 gFeier 8 dad 2 | (v / )

Write True or False:

(i) A triangle can have two right angles. (True / False)
(ii) A triangle can have three acute angles. (True / False)
13. fIU U ISERT BT GHHHR Rad =l a1 9k @

Fill in the blanks with the help of given example:
25 X 24 X 23 = 25+4+3 A 212
3"X3°x3*= -
14. & 7S aMqfa #, B @ 9@ WrT 9 Rem fIgelt & W fafaw: 2
Write the names of the points lies in the exterior part of the triangles
in the given figure:

D

*A
Wus ¥ (Section C)
15. = A= & ufdera # seforw: 3
Convert the following fractions into percent :
. 8
(i) 2—75
(ii) 0
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16. TS r[s PQR &I 34T Hiforg, forad PQ =5 ¥4I, QR =4 I 3R

RP =6 ¥l & ®
Construct a triangle PQR in which PQ =5cm, QR =4 cm and RP = 6cm.
17. AXYZ ¥ ‘@’ &1 A S BTG | ®

Find the value of ‘@’ in AXYZ.

46

a 64
Y z
3AUdT OR
e dHifsrg:
Match the following:
|}>|'ﬂ\_r| |}>|‘ﬂ\_r| bl AMH
Triangle Name of Triangle

(a) (i) HHdTg

Equilateral
3cm 3 cm
5cm

(b) (i) rfS® BT

Obtuse angle
3cm 5cm
(iii) wHfgeTg
dem Isosceles
(c)
5cm 10 cm (iv) THBIT
Right angle
6 cm
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18. W IT I forRag— ®
(i) TP I o goi= wnfafa & w9 2 &) (|9 / 39a)
(i) @ TEg B & ol SRl &1 w9 1 B (9 / 3N)
(i) TP TR AT @ gl TR B B 3 FI( T/ 3RTA)
Write True or False:-

(i) The order of rotational symmetry of a rectangle is 2. (True/False)

(ii) The order of rotational symmetry of an equilateral
triangle is 1. (True/False)
(iii) The order of rotational symmetry of a
parallelogram is 3. (True/False)
19. fa™ IfSg: ©
Match the following:
gfa — | gfd — 1l
Column -1 Column - I

(a)(-2) X (-2) X (-2) X (-2) X (-2) i) 1
(b) (-1)* (i) (-2)°
(c) (-1)’ (iii) (2)°
(iv) -1

Wus ¢ (Section D)

20. ¥ 7 U fSAT X250 ¥ WRIGT 3R X226 # o9 f&AT| SHBT A AT
BT U= S SifoTg | @
Sonu bought a radio for X 250 and sold it at X 225. Find his profit or
loss percent.

3AUdT OR

U & H SRATAl BT oM & oy @M &R A>T 7 HB U A DI
|| R R AT & gRT TG T U] P HAT BT U 34 2 |
Ifs B 42 US oY 7Y B, O T/D S §RT TN Y US| @) Gl
EISECAIN I

Radha and Sonia decided to plant some trees to increase greenery in
their area. The ratio of number of plants planted by Radha and Sonia
is 3:4. If the total number of plants is 42, find the number of plants
planted by each one of them.

21. AXYZ &1 @1 HITY s 2Y =90°% XY = 6 9 3R YZ=83 (@)

B |
Construct AXYZ in which 2Y = 90°, XY=6cmand YZ=8cm.
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22. & TS gl #, BT ‘b’ BT A F1G B @

Find the value of the angle ‘b’ in the given figures.

36° %

b 32°

> :
(i gl
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